Name:

('—&—Digi’r Dividends; Remcinders)

a. 2,365 +3 =

b. A bakery received a shipment

d. A schoolis buying all new math
textbooks. The school needs
1,026 books. Each box contains 8
textbooks. How many boxes does
the school need to order?

Show your work.

Preview

Please log in to download
the prinfable version of this worksheet.

answer:

frips does The elevafor need 1o
make?

Show your work.

54,659

answer:

How many people will be on the
elevator for the last trip?

answer:
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ANSWE R KEY ('—&—Digi’r Dividends; Remoinders)

(Division)

a. 2,365 +3 =_788T1l d. A schoolis buying all new math
textbooks. The school needs
1,026 books. Each box contains 8

Ihe III.

How many people will be on the
elevator for the last trip?

answer: S people
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